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The most suitable condition for the following reaction is

O
s @2K
—_—
a. PCC oxidation b Etard oxidation

¢. Wacker Oxidation d PDC oxidation

Product of the following reaction is

CLon

OH Pb(OAC)4
Product

(¥
a. Acetophenone b Benzophenone
¢. Diphenylmethanol d Benzaldehyde
The most suitable reagent for the synthesis of benzophenone from CO; is
a. 2eq PhMgBr b 2eq PhyCulLi
c. 2eq PhLi d 2eq PhoCuMgBr

Ligase is an enzyme which
a. catalyzes the joining of two molecules by forming a new chemical bond
b. catalvzes the breaking of a chemical bond
¢. catalyzes transfer of a fundamental group from one molecule to another
d. catalyzes the hydrophilic cleaning of atom
In the following, biochemical reaction, the enzyme is

OH

: O
H.C-CH-COO NADY —— . CH;COCO0 + NADH + K

(Lactate) (Pyruvate)
a. Pyruvate dehydrogenase b. Lactate hydrogenase
¢. Lactate dehydrogenase d. Lactate decarboxylase

The enzyme that catalyses the following reaction is

Glucose + ATP ———— Glucose-6-Phosphate + ADP
a. Oxidoreductase b. Transferase

c. Ligase d. Lyase

The rearrangement of 1,2-diketones to form a-hydroxy-carboxylic acids using a base
is known as

a. Benzil-benzilic acid rearrangement b. Pinacol-pinacolone rearrangement

¢. Wagner-Meerwein rearrangement d. Wolf rearrangement
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[PART-B : Descrigtivej

Time : 2 hrs. 40 min. Marks : 50

[ Answer question no.1 & any four (4) from the rest ]

1. a. Write the products of the following reactions. 2
PCC, DCM
)OH Product
B
L%’ /K PDC, DCM
Product
b. Write final product in the following reaction:
Ph—Br (1eqv) 2
a | Pd(PPhs)s, KOAc, DMF
3
¢. What is apo-enzyme and holoenzyme? Explain.
d.Which name reaction is related to the following reaction? Show the 1+2=3
mechanism
2 eqv. Na Liq. NH;
2 eqv. MeOH
2. a. How can you synthesise the following using the reaction mentioned, give 2+3=5
mechanism:
0]
(i) N : ;
(Mannich reaction)
0
i) Ph  (Stork enamine method)
b. Write down the product formed in the following rection with mechanism: ~ 2+3=5
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